9/15/00

Data-Burst Message

 (Revision Level: RIU/MDR ICD August 8, 2000)
Header Field Values:




Payload Field Values:
LLMSGID = 1






(Prior to Reed-Solomon encoding)

DH = DEFh






DF [0] = ABh

GEC = 0







DF [1] = CDh

PWR = 42 dBm (24 encoded)




DF [2] = EFh

TOT = 978,800 = EEF70h

SEGMENTS 1-4:

DSN = 1

LEN = 384 = 180h
Octet

No.
Octet

Value
Bit 8

(msb)
Bit 7
Bit 6
Bit 5
Bit 4
Bit 3
Bit 2
Bit 1

(lsb)

1
7Eh
HDLCFLAGSEQ = 7Eh

2
02h
HDLCADDR = 02h

3
03h
HDLCCTRL = 03h

4
01h
LLMSGID = 1

5
DEh
(msb)                       DH = DEh

6
1Fh
Spare=0
DSN = 1
DH = Fh        (lsb)

8
18h
(msb)                      LEN = 18h

7
E0h
(msb)       TOT = Eh
LEN = 0h       (lsb)

9
EFh
TOT = EFh

10
70h
TOT = 70h                       (lsb)

11
00h
Spare = 0
GEC = 0

12
18h
PWR = 24

13
ABh
DF [0] = ABh

14
CDh
DF [1] = CDh

15
EFh
DF [2] = EFh

16
00h
DF [3] = 00h

17
00h
DF [4] = 00h

18
00h
DF [5] = 00h

19
00h
DF [6] = 00h

20
00h
DF [7] = 00h

21
00h
DF [8] = 00h

22
00h
DF [9] = 00h

23
00h
DF [10] = 00h

24
00h
DF [11] = 00h

25
00h
DF [12] = 00h

26
00h
DF [13] = 00h

27
00h
DF [14] = 00h

28
00h
DF [15] = 00h

29
00h
DF [16] = 00h

30
00h
DF [17] = 00h

31
00h
DF [18] = 00h

32
00h
DF [19] = 00h

33
00h
DF [20] = 00h

34
00h
DF [21] = 00h

35
00h
DF [22] = 00h

36
00h
DF [23] = 00h

37
00h
DF [24] = 00h

38
00h
DF [25] = 00h

39
00h
DF [26] = 00h

40
00h
DF [27] = 00h

41
00h
DF [28] = 00h

42
00h
DF [29] = 00h

43
00h
DF [30] = 00h

44
00h
DF [31] = 00h

45
00h
DF [32] = 00h

46
00h
DF [33] = 00h

47
00h
DF [34] = 00h

48
00h
DF [35] = 00h

49
00h
DF [36] = 00h

50
00h
DF [37] = 00h

51
00h
DF [38] = 00h

52
00h
DF [39] = 00h

53
00h
DF [40] = 00h

54
00h
DF [41] = 00h

55
00h
DF [42] = 00h

56
00h
DF [43] = 00h

57
00h
DF [44] = 00h

58
00h
DF [45] = 00h

59
00h
DF [46] = 00h

60
00h
DF [47] = 00h

61
19h
(msb)                  HDLCFRAMECHK = 19h

62
5Ah
HDLCFRAMECHK = 5Ah                  (lsb)

63
7Eh
HDLCFLAGSEQ = 7Eh

SEGMENTS 5-6:

DSN = 5

LEN = 192 = 0C0h
Octet

No.
Octet

Value
Bit 8

(msb)
Bit 7
Bit 6
Bit 5
Bit 4
Bit 3
Bit 2
Bit 1

(lsb)

1
7Eh
HDLCFLAGSEQ = 7Eh

2
02h
HDLCADDR = 02h

3
03h
HDLCCTRL = 03h

4
01h
LLMSGID = 1

5
DEh
(msb)                       DH = DEh

6
5Fh
Spare=0
DSN = 5
DH = Fh        (lsb)

8
0Ch
LEN = 0Ch                       (lsb)

7
E0h
(msb)        TOT = Eh
LEN = 0h       (lsb)

9
EFh
TOT = EFh

10
70h
TOT = 70h                       (lsb)

11
00h
Spare = 0
GEC = 0

12
18h
PWR = 24

13
00h
DF [0] = 00h

14
00h
DF [1] = 00h

15
00h
DF [2] = 00h

16
00h
DF [3] = 00h

17
00h
DF [4] = 00h

18
00h
DF [5] = 00h

19
00h
DF [6] = 00h

20
00h
DF [7] = 00h

21
00h
DF [8] = 00h

22
00h
DF [9] = 00h

23
00h
DF [10] = 00h

24
00h
DF [11] = 00h

25
00h
DF [12] = 00h

26
00h
DF [13] = 00h

27
A2h
DF [14] = A2h

28
77h
DF [15] = 77h

29
BBh
DF [16] = BBh

30
71h
DF [17] = 71h

31
BAh
DF [18] = BAh

32
F7h
DF [19] = F7h

33
42h
DF [20] = 42h

34
B2h
DF [21] = B2h

35
33h
DF [22] = 33h

36
8Ch
DF [23] = 8Ch

37
EFh
(msb)                  HDLCFRAMECHK = EFh

38
AAh
HDLCFRAMECHK = AAh                  (lsb)

39
7Eh
HDLCFLAGSEQ = 7Eh

Note: Bit 1 of each octet is the first bit transmitted over the T1 data channel.

Management-Burst Message – Uplink (Normal Message)
(Revision Level: RIU/MDR ICD August 8, 2000)
Header Field Values:

LLMSGID = 2

STYPE = 3 (S2*)

LEN = 48 = 030h
TOT = 987,840= F12C0h
GEC1 = 0

GEC2 = 0

PWR = 42 dBm (24 encoded)

Payload Field Values:

For details of individual fields within payload octets, refer to the Manual on VHF Digital Link (VDL) Mode 3 Technical Specifications (20 January 2000).

MESSAGE ID = 0 (Normal)

VOICE SIGNAL = 2 (Voice channel idle)

AIRCRAFT ID (POLL) = 6 (Aircraft user)

SYSTEM CONFIGURATION = 3 (2V2D)

SLOT ID = 0 (Slot A)

GROUND STATION CODE = 7

SQUELCH WINDOW = 0

RESERVATION RESPONSE #1 = 89 = 059h (User Group A, AC #5 starts in odd ‘C’ time slot)

RESERVATION RESPONSE #2 = 0

In the diagram below, the msb of each octet (Bit 8) is left.  The lsb of each octet (Bit 1) is right.  The lsb of each octet (Bit 1) is the first bit transmitted over the T1 data channel.

Octet

No.
Octet

Value
Bit 8

(msb)
Bit 7
Bit 6
Bit 5
Bit 4
Bit 3
Bit 2
Bit 1

(lsb)

1
7Eh
(msb)                   HDLCFLAGSEQ = 7Eh                  (lsb)

2
02h
(msb)                    HDLCADDR = 02h                    (lsb)

3
03h
(msb)                    HDLCCTRL = 03h                    (lsb)

4
02h
(msb)                     LLMSGID = 2                      (lsb)

5
03h
Spare = 0
(msb) STYPE=3 (lsb)

6
00h
Spare = 0

7
03h
(msb)                      LEN = 03h

8
F0h
(msb)        TOT = Fh
LEN = 0h       (lsb)

9
12h
TOT = 12h

10
C0h
TOT = C0h                       (lsb)

11
00h
Spare=0
(msb)  GEC2 = 0  (lsb)
Spare=0
(msb)  GEC1 = 0   (lsb)

12
18h
(msb)                       PWR = 24                       (lsb)

13
08h
Message ID = 0
Voice Signal=2
Aircraft ID(Poll)=0h

14
63h
Aircraft ID (Poll) (cont) = 6h
System Configuration = 3

15
38h
Slot ID = 0
Ground Station Code=7
Squelch Window = 0

16
05h
Reservation Response #1 = 05h

17
90h
Reservation Response #1 (cont)=9h
Reservation Response #2 = 0h

18
00h
Reservation Response #2 (cont) = 00h

19
16h
(msb)                  HDLCFRAMECHK = 16h

20
FDh
HDLCFRAMECHK = FDh                  (lsb)

21
7Eh
HDLCFLAGSEQ = 7Eh

Note: Bit 1 of each octet is the first bit transmitted over the T1 data channel.
Management-Burst Message – Uplink (Normal Message)

 (Revision Level: RIU/MDR ICD August 8, 2000)
Header Field Values:

LLMSGID = 2

STYPE = 3 (S2*)

LEN = 48 = 030h
TOT = 987,840= F12C0h
GEC1 = 0

GEC2 = 0

PWR = 42 dBm (24 encoded)

Payload Field Values:

For details of individual fields within payload octets, refer to the Manual on VHF Digital Link (VDL) Mode 3 Technical Specifications (20 January 2000).

MESSAGE ID = 0 (Normal)

VOICE SIGNAL = 2 (Voice Channel Idle)

AIRCRAFT ID (POLL) = 61 = 3Dh (Discrete addressing not supported)

SYSTEM CONFIGURATION = 0 (4V)

SLOT ID = 0 (Slot A)

GROUND STATION CODE = 7

SQUELCH WINDOW = 0

RESERVATION RESPONSE #1 = 0

RESERVATION RESPONSE #2 = 0

In the diagram below, the msb of each octet (Bit 8) is left.  The lsb of each octet (Bit 1) is right.  The lsb of each octet (Bit 1) is the first bit transmitted over the T1 data channel.


Octet

No.
Octet

Value
Bit 8

(msb)
Bit 7
Bit 6
Bit 5
Bit 4
Bit 3
Bit 2
Bit 1

(lsb)

1
7Eh
(msb)                   HDLCFLAGSEQ = 7Eh                  (lsb)

2
02h
(msb)                    HDLCADDR = 02h                    (lsb)

3
03h
(msb)                    HDLCCTRL = 03h                    (lsb)

4
02h
(msb)                     LLMSGID = 2                      (lsb)

5
03h
Spare = 0
(msb) STYPE=3 (lsb)

6
00h
Spare = 0

7
03h
(msb)                      LEN = 03h

8
F0h
(msb)        TOT = Fh
LEN = 0h       (lsb)

9
12h
TOT = 12h

10
C0h
TOT = C0h                       (lsb)

11
00h
Spare=0
(msb)  GEC2 = 0  (lsb)
Spare=0
(msb)  GEC1 = 0   (lsb)

12
18h
(msb)                       PWR = 24                       (lsb)

13
0Bh
Message ID = 0
Voice Signal=2
Aircraft ID(Poll)=3h

14
D0h
Aircraft ID (Poll) (cont) = Dh
System Configuration = 0

15
38h
Slot ID = 0
Ground Station Code=7
Squelch Window = 0

16
00h
Reservation Response #1 = 00h

17
00h
Reservation Response #1 (cont)=0h
Reservation Response #2 = 0h

18
00h
Reservation Response #2 (cont) = 00h

19
C3h
(msb)                  HDLCFRAMECHK = C3h

20
92h
HDLCFRAMECHK = 92h                  (lsb)

21
7Eh
HDLCFLAGSEQ = 7Eh

Note: Bit 1 of each octet is the first bit transmitted over the T1 data channel.

Sync Search Control Message

 (Revision Level: RIU/MDR ICD August 8, 2000)
Header Field Values:

LLMSGID = 3 

NGW = 1

STYPE = 2 (S2)

S_START = 968,704 = EC800

S_STOP = 968,768 = EC840

Payload Field Values:

N/A

Octet

No.
Octet

Value
Bit 8

(msb)
Bit 7
Bit 6
Bit 5
Bit 4
Bit 3
Bit 2
Bit 1

(lsb)

1
7Eh
HDLCFLAGSEQ = 7Eh

2
03h
HDLCADDR = 03h

3
03h
HDLCCTRL = 03h

4
03h
LLMSGID = 3

5
06h
Spare=0
(msb)          NGW = 1
(msb) STYPE = 2

6
ECh
(msb)                  S_START = ECh

7
80h
S_START = 80h

8
E0h
(msb)      S_STOP = Eh
S_START = 0h    (lsb)

9
C8h
S_STOP = C8h

10
40h
S_STOP = 40h                  (lsb)

11
D3h
(msb)               HDLCFRAMECHK = D3h

12
63h
HDLCFRAMECHK = 63h               (lsb)

13
7Eh
HDLCFLAGSEQ = 7Eh

Note: Bit 1 of each octet is the first bit transmitted over the T1 data channel.

 Radio Control Message – Request (Log-In) 

(Revision Level: RIU/MDR ICD August 8, 2000)
Note: For segmentation purposes, this example assumes N1 is the default value of 512 bits.  This implies a maximum Information Field size of 512 bits (64 octets).  Less the 7 octets of Radio Control Message header information, this leads to a maximum payload size of 57 octets per segment.

Header Field Values:

LLMSGID = 5

CTYPE = 1

TSC = 4 (that is, there are a total of 5 segments)

PID = 0

ER = 0

RR = 1

TID = 1 = 0001h

PRI = 0 (Normal)
Payload Field Values:
MONTH = 12

DAY = 18

YEAR = 2000

HOUR = 2 p.m.

MINUTES = 1

USER ID = "jgarvey"

TERMINAL ID = "BHX37DPC8PRMFFKFQQMK69PXY"

SECURITY TOKEN = 40 octets of 33h followed by 128 octets of CCh
SEGMENT 1:

Octet

No.
Octet

Value
Bit 8

(msb)
Bit 7
Bit 6
Bit 5
Bit 4
Bit 3
Bit 2
Bit 1

(lsb)

1
7Eh
HDLCFLAGSEQ = 7Eh

2
02h
HDLCADDR = 02h

3
03h
HDLCCTRL = 03h

4
05h
LLMSGID = 5

5
01h
CTYPE = 1

6
41h
TSC = 4
PID = 0
ER=0
RR=1

7
10h
(msb)    LEN = 1h
SC = 0

8
C8h
LEN = C8h                    (lsb)

9
00h
(msb)              TID = 0
PRI = 0

10
01h
TID = 01h                    (lsb)

11
0Ch
Spare = 0
MONTH = 12

12
12h
Spare = 0
DAY = 18

13
00h
YEAR - 2000 = 0

14
0Eh
Spare = 0
HOURS = 14

15
01h
Spare = 0
MINUTES = 1

16
6Ah
User ID = “jgarvey”

17
67h


18
61h


19
72h


20
76h


21
65h


22
79h


23
00h


24
00h


25
00h


26
00h


27
00h


28
00h


29
00h


30
00h


31
00h


32
00h


33
00h


34
00h


35
00h


36
42h
Terminal ID = “BHX37DPC8PRMFFKFQQMK69PXY”

37
48h


38
58h


39
33h


40
37h


41
44h


42
50h


43
43h


44
38h


45
50h
Terminal ID

(continued)

46
52h


47
4Dh


48
46h


49
46h


50
4Bh


51
46h


52
51h


53
51h


54
4Dh


55
4Bh


56
36h


57
39h


58
50h


59
58h


60
59h


61
00h


62
00h


63
00h


64
00h


65
00h


66
00h


67
00h


68
18h
(msb)                HDLCFRAMECHK = 18h

69
0Fh
HDLCFRAMECHK = 0Fh              (lsb)

70
7Eh
HDLCFLAGSEQ = 7Eh

Note: Bit 1 of each octet is the first bit transmitted over the T1 data channel.

SEGMENT 2:

Octet

No.
Octet

Value
Bit 8

(msb)
Bit 7
Bit 6
Bit 5
Bit 4
Bit 3
Bit 2
Bit 1

(lsb)

1
7Eh
HDLCFLAGSEQ = 7Eh

2
02h
HDLCADDR = 02h

3
03h
HDLCCTRL = 03h

4
05h
LLMSGID = 5

5
01h
CTYPE = 1

6
41h
TSC = 4


PID = 0
ER=0
RR=1

7
11h
(msb)    LEN = 1h
SC = 1

8
C8h
LEN = C8h                    (lsb)

9
00h
(msb)              TID = 0
PRI = 0

10
01h
TID = 01h                    (lsb)

11
00h
Terminal ID

(continued)

12
00h


13
00h


14
00h


15
00h


16
00h


17
00h


18
00h


19
33h
Security Token / FAA Data Field

20
33h


21
33h


22
33h


23
33h


24
33h


25
33h


26
33h


27
33h


28
33h


29
33h


30
33h


31
33h


32
33h


33
33h


34
33h


35
33h


36
33h


37
33h


38
33h


39
33h


40
33h


41
33h


42
33h


43
33h


44
33h


45
33h


46
33h


47
33h


48
33h


49
33h


50
33h


51
33h


52
33h


53
33h


54
33h


55
33h


56
33h


57
33h


58
33h


59
CCh
Security Token / Digital Signature

60
CCh


61
CCh


62
CCh


63
CCh


64
CCh


65
CCh


66
CCh


67
CCh


68
C6h
(msb)               HDLCFRAMECHK = C6h

69
E8h
HDLCFRAMECHK = E8h               (lsb)

70
7Eh
HDLCFLAGSEQ = 7Eh

Note: Bit 1 of each octet is the first bit transmitted over the T1 data channel.
SEGMENT 3:

Octet

No.
Octet

Value
Bit 8

(msb)
Bit 7
Bit 6
Bit 5
Bit 4
Bit 3
Bit 2
Bit 1

(lsb)

1
7Eh
HDLCFLAGSEQ = 7Eh

2
02h
HDLCADDR = 02h

3
03h
HDLCCTRL = 03h

4
05h
LLMSGID = 5

5
01h
CTYPE = 1

6
41h
TSC = 4
PID = 0
ER=0
RR=1

7
12h
(msb)    LEN = 1h
SC = 2

8
C8h
LEN = C8h                    (lsb)

9
00h
(msb)              TID = 0
PRI = 0

10
01h
TID = 01h                    (lsb)

11
CCh
Security Token / Digital Signature

(continued)

(continued)

12
CCh


13
CCh


14
CCh


15
CCh


16
CCh


17
CCh


18
CCh


19
CCh


20
CCh


21
CCh


22
CCh


23
CCh


24
CCh


25
CCh


26
CCh


27
CCh


28
CCh


29
CCh


30
CCh


31
CCh


32
CCh


33
CCh


34
CCh


35
CCh


36
CCh


37
CCh


38
CCh


39
CCh


40
CCh


41
CCh


42
CCh


43
CCh


44
CCh


45
CCh


46
CCh


47
CCh


48
CCh


49
CCh


50
CCh


51
CCh


52
CCh


53
CCh


54
CCh


55
CCh


56
CCh


57
CCh


58
CCh


59
CCh


60
CCh


61
CCh


62
CCh


63
CCh


64
CCh


65
CCh


66
CCh


67
CCh


68
41h
(msb)                HDLCFRAMECHK = 41h

69
06h
HDLCFRAMECHK = 06h              (lsb)

70
7Eh
HDLCFLAGSEQ = 7Eh

Note: Bit 1 of each octet is the first bit transmitted over the T1 data channel.
SEGMENT 4:

Octet

No.
Octet

Value
Bit 8

(msb)
Bit 7
Bit 6
Bit 5
Bit 4
Bit 3
Bit 2
Bit 1

(lsb)

1
7Eh
HDLCFLAGSEQ = 7Eh

2
02h
HDLCADDR = 02h

3
03h
HDLCCTRL = 03h

4
05h
LLMSGID = 5

5
01h
CTYPE = 1

6
41h
TSC = 4
PID = 0
ER=0
RR=1

7
13h
(msb)    LEN = 1h
SC = 3

8
C8h
LEN = C8h                    (lsb)

9
00h
(msb)              TID = 0
PRI = 0

10
01h
TID =01h                    (lsb)

11
CCh
Security Token / Digital Signature

(continued)

(continued)

12
CCh


13
CCh


14
CCh


15
CCh


16
CCh


17
CCh


18
CCh


19
CCh


20
CCh


21
CCh


22
CCh


23
CCh


24
CCh


25
CCh


26
CCh


27
CCh


28
CCh


29
CCh


30
CCh


31
CCh


32
CCh


33
CCh


34
CCh


35
CCh


36
CCh


37
CCh


38
CCh


39
CCh


40
CCh


41
CCh


42
CCh


43
CCh


44
CCh


45
CCh


46
CCh


47
CCh


48
CCh


49
CCh


50
CCh


51
CCh


52
CCh


53
CCh


54
CCh


55
CCh


56
CCh


57
CCh


58
CCh


59
CCh


60
CCh


61
CCh


62
CCh


63
CCh


64
CCh


65
CCh


66
CCh


67
CCh


68
FDh
(msb)                HDLCFRAMECHK = FDh

69
71h
HDLCFRAMECHK = 71h              (lsb)

70
7Eh
HDLCFLAGSEQ = 7Eh

Note: Bit 1 of each octet is the first bit transmitted over the T1 data channel.
SEGMENT 5:

Octet

No.
Octet

Value
Bit 8

(msb)
Bit 7
Bit 6
Bit 5
Bit 4
Bit 3
Bit 2
Bit 1

(lsb)

1
7Eh
HDLCFLAGSEQ = 7Eh

2
02h
HDLCADDR = 02h

3
03h
HDLCCTRL = 03h

4
05h
LLMSGID = 5

5
01h
CTYPE = 1

6
41h
TSC = 4
PID = 0
ER=0
RR=1

7
04h
(msb)    LEN = 0h
SC = 4

8
28h
LEN = 28h                    (lsb)

9
00h
(msb)              TID = 0
PRI = 0

10
01h
TID = 01h                    (lsb)

11
CCh
Security Token / Digital Signature

(continued)

12
CCh


13
CCh


14
CCh


15
CCh


16
DCh
(msb)                HDLCFRAMECHK = DCh

17
02h
HDLCFRAMECHK = 02h              (lsb)

18
7Eh
HDLCFLAGSEQ = 7Eh

Note: Bit 1 of each octet is the first bit transmitted over the T1 data channel.

Radio Control Message – Request (Current Frequency) 

(Revision Level: RIU/MDR ICD August 8, 2000)
Header Field Values:

LLMSGID = 5

CTYPE = 2

TSC = 0

PID = 0

ER = 0

RR = 1

LEN = 16 = 010h

SC = 0

TID = 2 = 0002h

PRI = 0 (Normal)
Payload Field Values:

Unencoded Frequency = 136.975 Mhz

Octet

No.
Octet

Value
Bit 8

(msb)
Bit 7
Bit 6
Bit 5
Bit 4
Bit 3
Bit 2
Bit 1

(lsb)

1
7Eh
HDLCFLAGSEQ = 7Eh

2
02h
HDLCADDR = 02h

3
03h
HDLCCTRL = 03h

4
05h
LLMSGID = 5

5
02h
CTYPE = 2

6
01h
TSC = 0
PID = 0
ER=0
RR=1

7
00h
(msb)    LEN = 0h
SC = 0

8
10h
LEN = 10h                    (lsb)

9
00h
(msb)             TID = 0
PRI = 0

10
02h
TID = 02h                    (lsb)

11
0Bh
MSG [0] = 0Bh

12
B5h
MSG [1] = B5h

13
4Bh
(msb)              HDLCFRAMECHK = 4Bh 

14
31h
HDLCFRAMECHK = 31h               (lsb)

15
7Eh
HDLCFLAGSEQ = 7Eh

Note: Bit 1 of each octet is the first bit transmitted over the T1 data channel.

Radio Control Message – Request (Lowest Tunable Frequency) 

(Revision Level: RIU/MDR ICD August 8, 2000)
Header Field Values:

LLMSGID = 5

CTYPE = 3

TSC = 0

PID = 0

ER = 0

RR = 1

LEN = 16 = 010h

SC = 0

TID = 3 = 0003h

PRI = 0 (Normal)
Payload Field Values:

Unencoded Frequency = 117.975 Mhz

Octet

No.
Octet

Value
Bit 8

(msb)
Bit 7
Bit 6
Bit 5
Bit 4
Bit 3
Bit 2
Bit 1

(lsb)

1
7Eh
HDLCFLAGSEQ = 7Eh

2
02h
HDLCADDR = 02h

3
03h
HDLCCTRL = 03h

4
05h
LLMSGID = 5

5
03h
CTYPE = 3

6
01h
TSC = 0
PID = 0
ER=0
RR=1

7
00h
(msb)    LEN = 0h
SC = 0

8
10h
LEN = 10h                    (lsb)

9
00h
(msb)             TID = 0
PRI = 0

10
03h
TID = 03h                    (lsb)

11
02h
MSG [0] = 02h

12
CDh
MSG [1] = CDh

13
FFh
(msb)               HDLCFRAMECHK = FFh 

14
C2h
HDLCFRAMECHK = C2h              (lsb)

15
7Eh
HDLCFLAGSEQ = 7Eh

Note: Bit 1 of each octet is the first bit transmitted over the T1 data channel.

Radio Control Message – Request (Mode of Operation) 

 (Revision Level: RIU/MDR ICD August 8, 2000)
Header Field Values:

LLMSGID = 5

CTYPE = 4

TSC = 0

PID = 0

ER = 0

RR = 1

LEN = 8 = 008h

SC = 0


TID = 4 = 0004h

PRI = 0 (Normal)
Payload Field Values:
MODE = 85 (8 1/3 kHz DSB-AM)

Octet

No.
Octet

Value
Bit 8

(msb)
Bit 7
Bit 6
Bit 5
Bit 4
Bit 3
Bit 2
Bit 1

(lsb)

1
7Eh
HDLCFLAGSEQ = 7Eh

2
02h
HDLCADDR = 02h

3
03h
HDLCCTRL = 03h

4
05h
LLMSGID = 5

5
04h
CTYPE = 4

6
01h
TSC = 0
PID = 0
ER=0
RR=1

7
00h
(msb)    LEN = 0h
SC = 0

8
08h
LEN = 08h                    (lsb)

9
00h
(msb)             TID = 0
PRI = 0

10
04h
TID = 04h                    (lsb)

11
55h
MSG [0] = 85

12
9Dh
(msb)               HDLCFRAMECHK = 9Dh 

13
96h
HDLCFRAMECHK = 96h              (lsb)

14
7Eh
HDLCFLAGSEQ = 7Eh

Note: Bit 1 of each octet is the first bit transmitted over the T1 data channel.

Radio Control Message – Request (Request Readback)

 (Revision Level: RIU/MDR ICD August 8, 2000)

Header Field Values:

LLMSGID = 5

CTYPE = 30

TSC = 0

PID = 0

ER = 0

RR = 1

LEN = 72 = 048h

SC = 0

TID = 22 = 0016h 

PRI = 0 (Normal)
Payload Field Values:
MONITORID = 51 (RF Input Power Level [AM])

TYPE = 1 (Alert and Alarm Threshold values are requested)

ITERATIONS = 10

INTERVAL = 3

FILTER = 7 (Log-Ins/Log-Outs)

DATA = Date/Time = July 12, 2000  22:10

Octet

No.
Octet

Value
Bit 8

(msb)
Bit 7
Bit 6
Bit 5
Bit 4
Bit 3
Bit 2
Bit 1

(lsb)

1
7Eh
HDLCFLAGSEQ = 7Eh

2
02h
HDLCADDR = 02h

3
03h
HDLCCTRL = 03h

4
05h
LLMSGID = 5

5
1Eh
CTYPE = 30

6
01h
TSC = 0
PID = 0
ER=0
RR=1

7
00h
(msb)    LEN = 0h
SC = 0

8
48h
LEN = 48h                    (lsb)

9
00h
(msb)             TID = 0
PRI = 0

10
16h
TID = 16h                    (lsb)

11
B3h
TYPE=1
MONITORID = 51

12
0Ah
ITERATIONS = 10

13
03h
INTERVAL = 3

14
07h
Spare = 0
FILTER = 7

15
07h
MSG [0] = 7

16
0Ch
MSG [1] = 12

17
00h
MSG [2] = 0

18
16h
MSG [3] = 22

19
0Ah
MSG [4] = 10

20
9Eh
(msb)               HDLCFRAMECHK = 9Eh

21
56h
HDLCFRAMECHK = 56h              (lsb)

22
7Eh
HDLCFLAGSEQ = 7Eh

Note: Bit 1 of each octet is the first bit transmitted over the T1 data channel.

Link Initialization TEST Command

(Revision Level: RIU/MDR ICD August 8, 2000)

Octet

No.
Octet

Value
Bit 8

(msb)
Bit 7
Bit 6
Bit 5
Bit 4
Bit 3
Bit 2
Bit 1

(lsb)

1
7Eh
HDLCFLAGSEQ = 7Eh

2
02h
HDLCADDR = 02h

3
E3h
HDLCCTRL = E3h

4
00h
SN

5
00h
SN

6
00h
SN

7
01h
SN

8
7Ah
(msb)               HDLCFRAMECHK = 7Ah

9
D8h
HDLCFRAMECHK = D8h              (lsb)

10
7Eh
HDLCFLAGSEQ = 7Eh

Note: Bit 1 of each octet is the first bit transmitted over the T1 data channel.

RIU/MDR Status Message (RIU to MDR)

(Revision Level: RIU/MDR ICD August 8, 2000)

Header Field Values:

LLMSGID = 7

Payload Field Values:

LINK ACTIVE = 1
Octet

No.
Octet

Value
Bit 8

(msb)
Bit 7
Bit 6
Bit 5
Bit 4
Bit 3
Bit 2
Bit 1

(lsb)

1
7Eh
HDLCFLAGSEQ = 7Eh

2
02h
HDLCADDR = 02h

3
03h
HDLCCTRL = 03h

4
07h
LLMSGID = 7

5
00h
(msb)                  Link Active

6
01h
 Link Active                  (lsb)

7
BEh
(msb)               HDLCFRAMECHK = BEh

8
61h
HDLCFRAMECHK = 61h              (lsb)

9
7Eh
HDLCFLAGSEQ = 7Eh

Note: Bit 1 of each octet is the first bit transmitted over the T1 data channel.
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